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All in a Jumble Answers 

Area of a football pitch 7000 metres2 

Capacity of a bath 80 litres 

Capacity of a saucepan 2 litres 

Height of a 3 year old 1 metres 

Height of a tree 20 metres 

Length of a car 4 metres 

Length of a finger 60 mm 

Mass of a crisp 0.5 grams 

Mass of a ship 50000 tonnes 

Temperature of a volcano 1000 °C 

Time for a sprinter to run 100m 10 seconds 

Train speed 150 km/h 

Walking speed 5 km/h 
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All in a Jumble Answers 

 

Temperature of a glacier -20 °C 

Diameter of a fly's eye 0.5 mm 

Snail's speed 1 mm/second 

Area of a single bed sheet 3 metres2 

Temperature of a fridge 4 °C 

Length of human intestine 7.5 metres 

Area covered by 1 litre of wall paint 15 metres2 

Time of one TV advert 24 seconds 

Temperature of the human body 37 °C 

Mass of an adult 70 kg 

Area of a postage stamp 300 mm2 

Length of the Forth bridge 2500 metres 

Area of Wales 20000 km2 

Volume of Egypt's Great Pyramid  2600000 metres3 
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All in a Jumble Answers 

Area of A4 paper 0.06 metres2 

Mass of a grain of sand 1 mg 

Length of a cello 1.2 metres 

Mass of a baby 3.5 kg 

Capacity of a teaspoon 5 ml 

Mass of a lorry  10 tonnes 

Hair growth rate 15 mm/month 

Gestation of an elephant 22 months 

Length of a marathon 26 miles 

Capacity of a car's petrol tank 40 litres 

 Mass of an orange 100 grams 

Height of the Eiffel Tower 234 metres 

Capacity of an Olympic swimming pool 2500 metres3 

Length of the Equator 40000 km 

Distance from Earth to the Sun 150000000 km 

 


